Updating of Learning Resources ATTC NEQIP



ADVANCED TECHNICAL TRAINING CENTRE BARDANG, EAST SIKKIM

AN ISO 9001 CERTIFIED INSTITUTE





Ref. No. ATTC/F&A/2015-16/93/ (1)

Dated: 27th November 2015

M/s. Siddhant Distributors, 2nd Floor, Opposite Indraprast Lodge, Sevoke Road, Siligury-734001

Subject: Supply order (Mechanical Department)

Sir.

With reference to your quotation dated 23rd November 2015, you are directed the supply the following items:

S.I	Particular	Specification	Quantity		Price	Total
1	Alkosign Astra super White Board	ATRS120180	3		10615	31845
2	Alkosign Astra super White Board	ATRS90120	4		5305	21220
3	Alkosign Astra super Green Chalk Board with greed	ATRPC/G120360	3		14855	44565
4	Alkosiogn Magnetic Symbols	AMSR40	3	SET	75	225
5	Alkosign Magnetic Duster	ABE-1	5	set	130	650
6	Alkosign Acrylic Covered notice Board	NBFC90120	3		8235	24705
7	Alkosign push pins for felt and fabric notice board	NBPP/72	3	set	150	450
8	Alkosign universal white board pen tray	AMPT-4	5		110	550
					Total	124210
	*)					1242.1
					Grand Total	125452

(Rupees one lakh twenty five thousand four hundred and fifty two only)

Terms and Condition

- The above rates are inclusive of all taxes and exclusive of carriage/transportation cost.
- 2. The delivery should be made within 60 days from the date of order.
- 3. Items should be delivered in good condition with challan.
- 4. Tax should be deducted at the source as per government norms.
- 5. Payment terms and conditions as per quotation.
- Payment will be made by cheque/ NREF/RTGS.

Principal



ATTC/COM/5/7402

A.T.T.C., Bardang, P.O. Bardang, East Sikkim, Pin-737 134, Ph- (03592) – 233482, Fax -235381 Email: attc.skmpoly@gmail.com, Website: www.attc.skmpoly.edu.in



ADVANCED TECHNICAL TRAINING CENTRE BARDANG, EAST SIKKIM

AN ISO 9001 CERTIFIED INSTITUTE





Ref. No. ATTC/F&A/2015-16/ 931(2)

Dated: 27th November 2015

M/s Siddhant Distributors, 2nd Floor, Opposite Indraprast Lodge, Sevoke Road, Siligury-734001

Subject: Supply order (Mechatronics Department)

SIF.

With reference to your quotation dated 23rd November 2015, you are directed the supply the following items:

5.1	Particular	Specification	Quantity		Price	Total
1	Alkosign Astra super White Board	ATRS120180	3	U	10615	31845
2	Alkosign Astra super White Board	ATR590120	4		5305	21220
3	Alkosign Astra super Green Chalk Board with greed	ATRPC/G120360	3		14855	44565
4	Alkosiogri Magnetic Symbols	AMSR40	3	SET	75	225
5	Alkosign Magnetic Duster	ABE-1	5	set	130	650
6	Alkosign Acrylic Covered notice Board	NBFC90120	3		8235	24705
2	Alkosign push pins for felt and fabric notice board	NBPP/72	3	set	150	450
8	Alkosign universal white board pen tray	AMPT-4	5		110	550
					Total	124210
					E. Cess @1%	1242.1
					Grand Total	125452

(Rupees one lakh twenty five thousand four hundred and fifty two only)

Terms and Condition

- The above rates are inclusive of all taxes and exclusive of carriage/transportation cost.
- 2. The delivery should be made within 60 days from the date of order.
- 3. Items should be delivered in good condition with challan.
- 4. Tax should be deducted at the source as per government norms.
- 5. Payment terms and conditions as per quotation.
- 6. Payment will be made by cheque/ NREF/RTGS.

Principal



ATTC/COM/S/7402

A.T.T.C., Bardang, P.O. Bardang, East Sikkim, Pin-737 134, Ph- (03592) – 233482, Fax -235381 Email: attc:skmpoly@gmail.com, Website: www.attc.skmpoly.edu.in



ADVANCED TECHNICAL TRAINING CENTRE BARDANG, EAST SIKKIM

AN ISO 9001 CERTIFIED INSTITUTE





Ref. No. ATTC/F&A/2015-16/ 931 (3)

Dated: 27th November 2015

M/s. Siddhant Distributors, 2nd Floor, Opposite Indraprast Lodge, Sevoke Road, Siligury-734001

Subject: Supply order (Computer Engineering Department)

Sir.

With reference to your quotation dated 23rd November 2015, you are directed the supply the following items:

5.1	Particular	Specification	Quantity		Price	Total
1	Alkosign Astra super White Board	ATR5120180	2		10615	21230
2	Alkosign Astra super White Board	ATRS90120	4		5305	21220
3	Alkosign Astra super Green Chalk Board with greed	ATRPC/G120360	2		14855	29710
4	Alkosiogn Magnetic Symbols	AMSR40	2	SET	75	150
5	Alkosign Magnetic Duster	ABE-1	5	set	130	650
6	Alkosign Acrylic Covered notice Board	NBFC90120	3		8235	24705
7	Alkosign push pins for felt and fabric notice board	NBPP/72	3	set	150	450
8	Alkosign universal white board pen tray	AMPT-4	5		110	550
-	Ninesign with the same				Total	98665
=		#			Cess @1%	986.65
					Grand Total	99657

(Rupees Ninety nine thousand six hundred and fifty only)

Terms and Condition

- The above rates are inclusive of all taxes and exclusive of carriage/transportation cost.
- 2. The delivery should be made within 60 days from the date of order.
- 3. Items should be delivered in good condition with challan.
- Tax should be deducted at the source as per government norms.
- Payment terms and conditions as per quotation.
- Payment will be made by cheque/ NREF/RTGS.

Principal



ATTC/COM/S/7402

A.T.T.C., Bardang, P.O. Bardang, East Sikkim, Pin-737 134, Ph- (03592) – 233482, Fax -235381 Email: attc.skmpoly@gmail.com, Website: www.attc.skmpoly.edu.in